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1. Choose the correct answer of the following :

1x7=7
woe RN o7 SeC! A Bfenedt ¢
(i) A cell becomes turgid when placed in
(a) isotonic solution
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(b) hypertonic solution | e et Retiee TR sifkeic Brts 4R
R AT @™

(c) hypotonic solution P

(d) None of the above b) <R AR

PIT 61 "Fe W A @A . =W (o) SR iR

(@) FNARN TS (@) R AR

(b) TGS TR© (i) Guttation takes place through

(c) SEAIN TT© | (a) stomata
(b) cuticle

(d) ST GoI8 T
(c) hydathode
(i) The water held tightly by the soil

particles around them is known as | (d) lenticel

SRR 2|l 2?2
(a) field capacity R
(a) <R
(b) runaway water »
(b) e
(c) hygroscopic water
. : (c) TE_Z/
(d) capillary water (d) IeTE
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(¢ Warburg

(iv) Krebs cycle takes place in
| (d) Blackman

(a) chloroplast
AETEREINS AN A S Tesm =

(b) ribosome 3t e TR

(c) mitochondria
(a) I AP A

(d) endoplasmic reticulum

(b) &=

(@G 5F WAvS
(@) TR | (c) et
a .

f (@
(b) IR )

WG Rl {‘ (vi) Abscisic acid causes

(c) : | ,
(d) SN T i (a) faster leaf fall

. (b) dormancy of tubers
(vy The oxygen during photosynthesis

comes from water, was proved by ‘ (c) retardation of growth
() Kamen and Ruben | (d) All of the above
(b) Hill '
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R e
(@) GIN I “A1® 7"
(b) IR ARE

() e g aiferay
(d) 8T FRAIRI

(vii) Non-protein part of enzyme is known

as

{(a) holoenzyme
(b) apoenzyme

(c) coenzyme
(d) All of the above

T B St Rl =
(@) T qREIRy

(b) GH Gy

(c) Fevmizm

(d) S*RT SRR
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2. Write short notes on the following: (any
four) 2x4=8

weTe fraiciea 53 (Ot fovat ¢ (Rieeizanr w1f3oY)
(a) Plasmolysis

(b) Role of stomata

(c) Chlorophylls

(d) Macronutrients

(e) Vernalization

(f) Respiratory quotient
(@) =B eler T

(b) ERTI B

(c) RN

(d) A

| (e) TR

| (f) WS A

[ 3. Write short notes on the following: (any
three) 5x3=15

| v frIas Saghl fordt ¢ (et fofbt)

(a) Glycolysis

! (b) Mechanism of stomatal transpiration
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(¢) Photoperiodism | Tfert Ifw oSS SR clerz 2 2
(d) Biological nitrogen fixation | Ricorear foibr cner i TR ot i
: i AR T e R aer oo
(e) Gibberellins '. ST 39 |
(a) AT -. () What is photosynthesis ? Give an
(b) AR AT Aol accounii on mef:hanism of CO, fixation
expressing major steps and the end
(c) Wi afefm . products in the process. 2+8=10
(d) @R A2 Aegon AR B2 CO, AW PR 33
(e) &I i ORI 2T Teslifre TPz Torgie
IR @i Ot wife |
4, An . (d) Describe Krebs cycle and explain the
quessv:izgs f’ny three of the following funct.ion.s of various enzymes taking
. 10x3=30 | part in it. 7+3=10
o Rt Rt e et i 3 @ 5 I T T R oS S
(a) Desc.ribe the mechanism of active and , 1 SR Berma IR IR
passive absorption of water by roots. |
5+5=10 ;
oI a1 oyt e e, e ot o
\ T A% T A L
Sasi s ¥ |
i (b) nWht:;t Jare essential elements in plant
u o
| - thtlon ? Explain the role of any threé
| o “m and show how thejr deficiency
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Paper : BOT-HG-3026 (b) Peroxyacetyl nitrate is mainly
( Environmental Biotechnology ) responsible for :
(Fill in the blank)
Full Marks : 60
_ 3 AW S (RFADEEA T2E6
Time : Three hours i (T 1% o999 F9)

The figures in the margin indicate

full marks for the questions. (c) For which purpose oxidative ponds are

being used ?

1. Answer the following as directed : 1x7=7 & TR @ TS 3N YT =\ @2
I PRI ot fr st T fom ¢ (d) Write the full form of WCED.
(@) Which one of the following is mainly WCED 3 3~ /I forr |
responsible for ozone layer depletion ? () Who mainly led Narmada Bachao
(i) Co, Andolan ?
i i <% e ot @I ?
(i) Ccrc pRig e & «fRfe
(i) cH () Which of the following is responsible
\ for Bhopal Disaster, 3rd December,
(iv) CO 1984 ?
& T T AR RS (A1 wfwiel 2 o8 5d © ForTEas T TR (IR Yo
GEIR! A@ FCHS (@RI wide
i) CO, (i) Methyl isocyanate
(@) CFC ERIEGASIEIRICE
(i) CH (i) Nuclear explosion
4
. siigeefRe Kewd
(iv) CO
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(9)

Give very short answers :

(iii) Mercury
Al

(iv) Sulphur dioxide
DRI TIRSTHIZT

Permissible noise level is measured in
the unit of (Fill in the blank)

SIS *¥ B9 TR A3 IR T G
@R | (AT 313 597 79)

2x4=8

Wi bt Teg Tl

(@)

(b)

()

(d)

3 (Sem-

f
“‘L‘

What is biomagnification ?

o) 7@ T e
Write a short note on acid rain.
e I w9 53 (o1 ferall |

What is xenobiotic compound ?

@RS A et & q@l2

What is the role of central and stat®

pollution boards,

mmmmqqﬁwwﬁs?
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3.
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Write notes on : (any three)

5x3=15

Ot fort 3 (et fofaby)

(@)

(b)

(c)

(d)

Salient features of the Forest

Conservation Act, 1980

TR T W2, ddbo I I IRBPIZ
Bioreactors
JIRETS®

Anthropogenic effect on global

environmental issues
Y SR TR (Y TR NG A
Water pollution

G AT

Ramsar Convention, 1971
PR A, 599D

Describe various processes used for

wastewater treatment. 10
<o S AR A T T TR
ez el
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- Or/9qt

Write in detail about the role of NGOs

in conservation of biodiversity. 10

@I AR (57 (@b FeTwele gkl
ARCH IR o

(b)) Write an essay on biotechnological

approach for management of

environmental issues. 10

AR TR (@Y I TR R o
TeRAYE [T 9% TR 29 ol 2o w4l |

Or/9q

Where was Gandhamardan and Silent
Valley Movement organised ? Critically

analyse the impacts and outcome of

() How is economic growth related to

environment ? Explain the possible

measures for better economic growth

without affecting environment.
4+6=10

SRR TS ReR Taf® s s 2 iR

o ot [REn Tafomemr TATMmE
LAY T AT DA 901

Or/%da!

Describe the major recommendations
made in Rio Earth Summit-UNCED,
1992. What are the similarities between
Stockholm Conference, 1972 and Rio

Earth Sumit-UNCED, 1992.
7+3=10

e B SRR 2 sPTR 7 7 @R
Bl | BE SRR TS BT, SR AT
@ R e A Ol T 3

those movements. 2+8=10 —_—
‘TR AR TR SoeR’ wiHeR T
e &1 @R WIeHER B e o
TN OGP (el 2 |
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